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Construction:

i
&

-

Construct a APQR with any measurement.
Draw a ray QX making an acute angle with QR on the side opposite to vertex P.

Locate 7 points (the greater of 7 and 3 in 3 @1 Qs 0s Qu Qc; Qe Q; on QX so

that

Q01 = 010z = Q205 = Q304 = Q,Qs = QsQ; = Qs7Q7
Join Q5 (the 34 point, 3 being smaller of 7 and 3 in 5) to P and draw a line through Q,

parallel to Q3R intersecting the extended line segment QR at R’

Draw a line through R’ parallel to RP intersecting the extended line segment QP at P’.
Then P'QR’ is the required triangle each of whose sides is seven-third of the
corresponding sides of APQR.
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